	Вариант/

задания
	А1
	А2
	А3
	А4
	А5
	А6
	А7
	А8
	А9
	А10
	В1
	В2
	В3

	1
	2
	2
	3
	3
	3
	3
	1
	1
	3
	3
	0,25
	− 1,5
	3240

	2
	4
	1
	4
	2
	1
	1
	4
	4
	4
	1
	0,5
	− 1
	5565

	3
	3
	1
	4
	4
	4
	2
	2
	3
	1
	1
	2
	0
	274

	4
	2
	4
	4
	3
	1
	4
	4
	2
	2
	2
	1
	− 1
	253

	5
	2
	1
	1
	3
	3
	3
	2
	4
	3
	1
	0,6
	2
	7500

	6
	2
	2
	3
	4
	2
	2
	3
	3
	2
	2
	2,2
	1
	34800

	7
	2
	4
	1
	1
	3
	2
	3
	3
	2
	4
	1
	1,5
	2592

	8
	3
	1
	1
	2
	2
	2
	2
	3
	3
	4
	− 11
	− 1
	32500

	9
	1
	1
	1
	1
	1
	1
	1
	1
	1
	2
	4
	− 1,5
	7920

	10
	4
	1
	1
	4
	3
	3
	3
	3
	2
	3
	0,75
	1
	5700

	11
	4
	2
	3
	2
	4
	3
	2
	4
	2
	2
	0
	− 1
	4

	12
	1
	3
	4
	2
	1
	1
	3
	1
	3
	3
	0,75
	0,25
	3

	13
	4
	1
	3
	3
	3
	3
	1
	2
	4
	2
	19,5
	0
	5

	14
	1
	1
	2
	4
	1
	2
	3
	3
	3
	1
	2,5
	0,5
	1800

	15
	4
	1
	2
	4
	1
	3;4
	3
	4
	3
	2
	− 2,75
	1
	1160


